V?CEOCS, R@vfs(_;,f\ L\/Of'ke_i S\oL«,{'u;/lS

vi: u+ Qas )
[M) ()22 )
2 z

M. m', mTf =
S sE s
m o omr
SL - Sl—

2

;, - ,m__v“_ .

F- 7

@2 _A vecéor qt\ant 64 lms a Maand.'uo‘e cma( a d«‘rcg{::};q
A scalar ?qw\hh has  a MM”J_QAL*O"%

€s - farce acce,eraf‘lon

Ve(,br exw -
,Scal«r exw/e,;: mass | speed ..

Q3. i




= = o - _
o x = 2(_)“ gJ) 3 - 3 2' -
— . S = -
o 2 .
\l\ 2 .
) [ S~ 5
o

1) < J &% (-7 =|J29 ] l91= JCaye(a = [Tis |
j (.l'l.) E,)i 9) ' L_
2 )
o ‘5 -3
ml N
&= T (%) &= T ( %)
= 68.2° = 33.8°

= [E¢g.2°s D [w3z.zN

or | S21-8°E or | N56:3°W
:’Ql_'v)— %@ —
- ~2(2 55’)-— (=324 29)
B = 42 - 10 4+ 32_ 2P

= ‘7'[) —’Q
:‘ V) )lx - )

= ,7‘4. = '2')l

B () 4L - u.)1

193




= (P2-587 = 4u3p B:=20:7
== S —— i s e ————————— 7,!?_//4'
Dl X9 (6o -5p)(u2432) I

()(n) +(-s)z)

= 29_15 )
- [9]

N

2.8 = {ép- 55’)(2?

?)

()2 + (-5)C1)

. 12- §
- 7

|‘|'|')

Rlas 2

F48 = LPr3p 2 1P 47

= 62 4 &P

=5 (7. 530 L2 %)

= X)) 3 C-5 )

= 36 - 20

C

s i)

Y
o ,i,)LJS‘ £129] = 122 +57)
I « JO2) 4(5)?
| 3

C(s24129)( 1o s

(sXa2) + (1e)s)

1) lgc —J 7- .)(§)1+(-|)12J2_5_:r
(32547 = JG Y+
65

(g2-7)(32+42)
= (g)(-2) +(-1)Cy)

- = bo i da _se- 4
B = |20 - 60
- - = =)
- SO - - NS SS— - o
@ = &0 = g GLsS = TRl
S i
b | = 120 JesTzs
o (3X13) X i
= | 20 = B
1 (69 o
- D Gz Gon :Tzo = &= Gos™! (43) = 15? o
_ = [’-I-‘f-?é" = Smaller w‘gLe




(w2 22)(e+27)
L= (aX0) +(-2X2)
b -y

(wo- )22+ 49)
= Cudlzd a{-2Xy)
- % _3%

= 0o D 17

) Los o( = /L3_ o :

B B . gt
. - l69- 28 = x?

st |

i) Shketch :

|
N

| o
. ) , 3 o
e s ilbsia30 i =
e ( ' S

— L .ln,

T3 =29

D bwes300 ¢ bsia 307
- [2RP 3 Ip

‘7 j :'> = \5_(9560:) + ls—S;« 605) - o ) W :A%NV‘
- ~F5 & 4 13P] |




o ] = J
e (P
| = 38.%°

=) 4'14'3
JCElw® |

T (%)
%ok " 9_/4,;,33‘1'4"

~32) = JG@H(3)?

(¢}

oR B calc!

] Pl (=Sw)

- [T | 1un3e

lo

(R AT™

T

unzonuu'zx—ao



iy hfa@

= k(32-3) + @4 47

3R - kP + 92 4+ 4P

(3k+q) 2 4 C—k+ 4) P

Al.ng O oaxis D ? Q;fvpo')e/\-t' g0

D -kt b0

[R=1]

Q3. le2s 22| lisP_27]

J (O H(24)* = J Cis)®s€a)"

J 2 45% = 2§

Sqwfe LoHs Sy

'y 530 = 625

t? , 2 LIS — 576

@

| 1(3Pa2p) « KWp-1F) = 22987

. BL+Yk=2:A 2-hs 5B

3Lt AP+ k2 - LP = 794 5P
Bl+tk)P+ (2t- )P = 22 +57

r E x5
P e 3= 5

Solw;\s . e
1Al Bly hk=2 > A 3(2) +4k=2
Bxy. EL-Uk:20 / 6+ Lkh=2
Coue =222/ bl -y

| L ‘—2/ k=-1




Qs Pz 30 —(kh-1)P  @= (k+)2 4 47
L ) plLg D pg=o
(3)(Ck#t) +(w)(=CR-) = O o
3‘24-3 - Lk +4 = O
. = -k+ 3 -0
B [R=3] B
D[ P s 3267+ BO4bp o
A = (2 -2p
1 TJP’_Z{’)‘- j(u)?'-#(—z)z = BJs ’?:))= J@ 4 = 4S5
i (p+3) (}7_-.77 Cup-22)(32+ 4)
/'.,fw = Q) +(-)y) = 80
,//‘—* )7._, Q - o = Jﬁ
- 2 s = i3 Lzl = (s55)(uss) Ls ]




